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M. HHYAMHI A
el Fol=XEE (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
SES 276,092 253,591 22,501
A AMH A 115,706 101,065 14,641
FOEXHA 79,780 69,280 10,500
ScletdEs 59,380 59,280 100
301 dEtE A= 59,380 59,280 100
0B SHE-0& - -EtEes8a3 59,380 59,280 100
ms&Es< 52,480
(OPIE=E=; 200,000& x16H x12& 38,400
oaN3 200,000& 16 *23| 6,400
O3 o &N 20,0003 *16H x23| x12& 7,680
(w] BFEF G 50,000 =138 6,900
Xl 2= K 19,000 10,000 9,000
201 L2 Y| 13,000 10,000 3,000
01 AFR2t2l bl 3,000 0 3,000
mZ2Zg SXXM AUl Lt 500, 0003 =6 CH 3,000
03 At L I 10,000 10,000 0
mx 2 =H 10,000, 000& 10,000
206 M = Hl 6,000 0 6,000
01 X2t 6,000 0 6,000
mZH X EH 2 6,000
Osg?=2 ¢ 5,000,000& 5,000
gH * 4,000& *250 XL CH 1,000
XOHZHEX ASnE 1,400 0 1,400
301 dEtE A= 1,400 0 1,400
09 HAIAH EA= 1,400 0 1,400
mMAHZEHAX(FHEEE HE=Al HESES) a5
= 1,400,000& 1,400
ESHIMNHA 35,926 31,785 4,141
3 &l 35,926 31,785 4,141
101 @121l 27,701 23,560 4,141
04 JI2ZtH22XNEE =+ 27,701 23,560 4,141
mMSHENLAAMG (XY =H S) 8,616
(@FeiEgel! 60,2403 2H x 10 53] 6,024
oR3I&ELsY 60,2403 x2H 22 %53 1,205
OdXtRESsIt=E 60,240& x2YH x5 603
OAREEH= 7,832,000& *10% 784
mZ2UAXY, 2 EHII S 19,085
ooy 60,2403 *8H x 10 x33] 14,458
oORssdrY 60,2403 *8YH 2 x33] 2,892
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OYREE= 17,350,000& *10% 1,735
201 et 3,000 3,000 0
01 At 22l 3,000 3,000 0
LR NE= 3,000
OXfoll & &Z3MH =& FHl S 3,000
O=23J £ €= 500,000& +6CH 3,000
206 = Hl 5,225 5,225 0
01 =8l 5,225 5,225 0
mZECA & SEA 2RI 3,650
O X, &Hl, Hlg S
35,0003 *3E 15 +23] 3,150
OA2 ZJ/7 % HISHl 10,000& x5 * 104 500
mEZH SHD| 1,575
OuxJI &MU 1,500 3504 *33] 1,575
H.SAE 2 30,000 30,000 0
A2 E2FUSJAY 30,000 30,000 0
A2 FOMEEHOIAY 30,000 30,000 0
401 Al HIZ 201 Y] 30,000 30,000 0
01 A& HI 30,000 30,000 0
WARE FOIMBBAAY 30,000
CRAMALES S AZ BLTA
25,000,000& 25,000
oOczy ZZX4d & & ZFHAY
5,000,000& 5,000
HY2AZH (SES) 130,386 122,526 7,860
Jl2Z3l 130,386 122,526 7,860
JlE&l 130,386 122,526 7,860
201 ¢et24] 83,466 77,946 5,520
01 At 2t 2l 27,066 25,146 1,920
mBt~=ZH] 15,066
OJle MRESHI 5,000& *10.5% 128 630
OZN2ZE =EH| 70,0003 *10.5H «12& 8,820
O=AJI, E&D10] 225 250,000&+123 3,000
ORAEIZH S 2,616
OF A 130,000& =128 1,560
OFQIXHXIHIE 88,000& «x12& 1,056
m2I+= 1,920
OMEHILRT =4 8,000 20 128 1,920
m = &l 8,000 *10.5H 10« 12& 10,080
02 =24l 56,400 52,800 3,600
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w3322 L HA 44,400
oRE=E &= 1,100,000& x12& 13,200
(OFSPIETE=: 1,800,000& x12& 21,600
O -t 2= 500,000& *12& 6,000
OJIEet 2522 % MA 300,000& x12& 3,600
m A& & Hl S XY 4,800
O MAIEE w22 400,000& 128 4,800
] XH&F A erd] (204 ) 7,200
oOxeE=FUH 200,000 20 x12& 4,800
OXNHHU AL & A2EHI
100, 000& =20 12& 2,400
202 (4] 31,500 31,500 0
01 2L Y| 31,500 31,500 0
w2t = & 31,500
otolgs FRFE  250,000& x10.58 12 31,500
203 2P E=F | 10,120 10,080 40
01 J|22H L R=AH| 6,600 6,600 0
m oI 30H0| OF 6,600,000& 6,600
02 BRI R =X H]| 520 480 40
WEAADE S AH (M2 :13H) 520
© 100 Nk Kl 40,000 =134 520
04 ENSIHRE=Y| 3,000 3,000 0
WEA2Y 2FXH (FE:139) 3,000
O & & 15210| ot 250,000& x12& 3,000
204 & 2 =2 Z H| 3,000 3,000 0
01 S LRHAHH| 1,800 1,800 0
ms& (558 JI2H) 150,000 x 19 «12& 1,800
03 SEHYRAEH| 1,200 1,200 0
mANREE 100,000& *1H x12& 1,200
405 XHAHE S| 2,300 0 2,300
01 A&t = S F S HI 2,300 0 2,300
(] H LG D) 1,300,000 = 1CH 1,300
(w0l | 500, 0003 *2CH 1,000




